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Hourly Examination One   

Closed book. May use calculator and formula card (sheets). Show all work for full credit. This means show which text book formula is used; plug in a few representative data points to demonstrate that you know how to use the formula; provide the correct numerical answer. Providing only a calculator input stream will not earn full credit.

(100 points)

(6) 1. A recent Seattle Times article stated that major wood product exports from the Port of Seattle were down 15% from last year. This conclusion is based on Port data that covers all such shipments.

a) Is the statement, “major wood product exports from the Port of Seattle were down 15% from last year” an example of a descriptive or inferential statement? Circle one best 
b) Is this statement based on a sample or census? Circle one response. 

(6) 2. A social scientist visits the Greek island of Santorini in the summer of 2009 to study the drinking habits of young adult vacationers from Europe.  Based on a simple random sample of 50 young adults, she finds that young adults consume an average of 4.0 liters of beer per day. 

a) Identify the level of measurement for beer consumption as: nominal, ordinal, interval or ratio. Circle one response. 

b) Is this measure a qualitative or quantitative measurement? Circle one response.

c) Is the 4.0 liter average value a parameter or a statistic? Circle one response.

(28) 3. A biologist studied the age of 15 Yellowstone elk suffering from under nourishment during the winter of 2007-2008. The ages were:


 

4  5  10  12  3  6  12  14  9  11  8  5  12  7  10

a) Construct a frequency distribution for these ages such that there are four classes. 

b) What are the class limits for the second class? 

c) What is the class width?

d) Using class boundaries on the x-axis, draw a histogram based on the classes used in the frequency distribution.

e) Describe the shape of the distribution as bell-shaped, uniform, right-skewed, or left-skewed. Circle one best response.

f) Prepare an ordered stem and leaf diagram using two lines per stem

(45) 4. In problem 3 you were given the following: A biologist studied the age of 15 Yellowstone elk suffering from under nourishment. The ages were:

4 5 10 12 3 6 12 14 9 11 8 5 12 7 10

The 15 elk were randomly selected from the Park’s larger population.

a) Find the sample arithmetic mean.

b) Find the sample standard deviation. Note (x2 = 1254 if you wish to use the shortcut formula for calculating the numerator of the standard deviation formula: {(x2 – ((x)2/n) = ((x-xbar)2}

c) Find the sample median value.

d) Based on Chebychev's Theorem at least what percentage of the sample data lie within the following age range (3.435 - 13.631)? 

e) Choosing between the mean and median for this data set, which would you choose to best represent the “middle” age? Why?

f) Calculate the inter-quartile range.

g) Draw a box and whisker diagram for this sample data set.

(15) 5. a) Thirty-five sophomores, 26 juniors and 41 seniors are randomly selected from 523 sophomores, 365 juniors and 431 seniors at a given high school. Circle the sampling technique that is used: random, cluster, stratified, convenience, systematic.

b) If final grades of A,B,C,D,F are used, are these data: nominal, ordinal, interval or ratio? Circle one answer. Are the grades qualitative or quantitative? Circle one answer
c) Every fifth log entering a sawmill is measured for length. Is this sampling: random, convenience, systematic, cluster or stratified? Circle one answer.

d) The number of milligrams of tar in a pack of cigarettes is: nominal, ordinal, interval or ratio data? Circle one answer.

e) A parameter is a numerical measure that describes a population characteristic? True or false? Circle one answer.

f) To find out if a proposed drug will increase runners performance, would you gather confirming data using: simulation, perform an experiment, sample or census? Circle one answer.

BONUS (5 points)

Can Q3 ever equal Q2? If so, under what conditions? 




